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const int MAXN=1e6+5;
struct Tree
int lef|[MAXN<<2!,rig|[MAXN<<2|,w| MAXN<<2];
int (*merge) (int,int);
void Push up(int k){w/kl/=merge(w| k<<l],w|k<<Il| ;
void build(int k,int L,int R
lef[kl=L,rig/ k/=R,w[k|=w o
L==R

int M=L+R>>1;
build(k<<1,L,M);
build(k<<1|1,M+1,R);

void build(int n,int w O
wiOl=w 0;
build(1,1,n);

void update(int k,int p,int v
lef kl==rig/k
wlkl=v,void();
int mid=lef[k|+rig/k|>>1;
p<=mid
update(k<<l,p,v);

update (k<<1|1,p,Vv);
Push up(k);

void update 2(int k,int p,int v
wlkl+=v;
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lef ki==rig/k

int mid=lef|ki+rig/k|>>1;
p<=mid

update 2(k<<l,p,v);

update 2(k<<1|1,p,v);

int query(int k,int L,int R

L>R
w ;
L<=lef|k|&&rig|k]|<=R
wi kl;
int mid=lef[k|+rig/k]|>>1;
R<=mid
query (k<<1,L,R);
L>mid
query (k<<1|1,L,R);
merge(query(k<<1l,L,R),query(k<<1|1,L,R));
tree;
int Max(int a,int b a>b?a:b;
int Min(int a,int b a<b?a:b;

int n,t,a/MAXN|, 11 MAXN]|,r1/MAXN]|,12[MAXN|, r2[MAXN];
vector<pair<int,int> >opt/MAXN]|;
#define lowbit(x) ((x)&(-x))
int c/MAXN];
void add(int pos,int v
pos<=n
c/pos|+=v,pos+=Llowbit(pos);

int query(int L,int R
int ans=0,pos;
pos=R;
pos
ans+=c/|pos|,pos-=lowbit(pos);
pos=L-1;
pos
ans-=c/|pos|,pos-=lowbit(pos);
ans;

int main

n=read int();

_rep(i,1,n

alil=read int();

tree.merge=Max;

tree.build(n,0);

_rep(i,1,n
t=tree.query(1l,alil+1,n);
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11/i/=max(tree.query(l,alil+1l,alt]-1

t
rl[il=t;

tree.update(1l,ali],i);

tree.merge=Min;
tree.build(n,n+1);

int i=n;i>=1;1i--

t=tree.query(1l,1,ali]-1);

tl=n+1
12/i]=t;

,tree.query(l,altl+1,n

r2[i]J=min(tree.query(1,1,alt]-1),tree.query(l,alt]+1,ali]-1

tree.update(1l,ali],i);

_rep(i,1,n 12[1
opt[12[i]].push back(make pair(i,1));
optir2[i|+1].push back(make pair(i,-1));

LL ans=0;
_rep(i,1l,n

_for(j,0,opt[i].size

add(opt/il[j].first,opt|i

rifi
ans+=query(l1[i],rl/1i

cout<<ans;
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0;
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#include<bits/stdc++.h>
using namespace std;

typedef
typedef
#define
#define
#define
#define
#define

long long 11;

unsigned long long ull;
pii pair<int,int>

pll pair<ll, 11>

pb push back

X first

Y second

inline 11 gcd(11 a, 11 b

a<©0?7-a:a;

inline 11 lowbit (11l x
const double PI = 3.14159265358979323846;

.second) ;

-X);

+1;

_1;
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const int inf = Ox3f3f3f3f;
const 11 INF = Ox3f3f3f3f3f3f3f3f;
const 11 mod = 998244353;
inline 11 rd
1L x =0, f=1; char ch = getchar();

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:contest:%E7%89%9B%E5%AE%A2%E 7%BB%83%E4%BI%A0%E8%B5%9B66&rev=1595739539

ch<'0" || ch>'9" ch == "'-')f = -1; ch = getchar();

ch >= '0' & ch <= '9' X = (X << 3) + (x << 1) + (ch » 48);
ch = getchar();

X * f;

const double eps = le-6;
const int M = leb + 10;
const int N = 1e6 + 10;
set<int>S;
int alN!, pos|/N/;
int n;
vector<int>L[N!, R[NI;
int qUINJ|, gr[N/;
int c[N];
int query(int x
int sum = 0;
X
sum += c[x!;
X -= lowbit(x);

sum;

void add(int x, int y
X <= n
clx] +=vy;
X += lowbit(x);

int main
n=rd();
int 1 = 1; 1 <= n; i++
ali] = rd();
poslalil]| = 1i;

int i = 1; i <= n; i++
int p = posiil;
S.insert(p);
auto it = S.upper bound(p);

it !'= S.end
//U1[1] = *it;
LI *it].pb(p);
//1it = S.upper bound(*it);
++it;
it == S.end
Rinl.pb(p);
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//r1[i] = *it - 1;
RI*it - .pb(p);

S.clear();
int i =n; i>=1; i--
int p = posiil;
S.insert(-p);
auto it = S.upper bound(-p);

it !'= S.end

gripl = -(*it);

++1it;
it == S.end
qllp] = 1;
gllpl = -(*it) + 1;

11 ans = 0;
int 1 = 1; 1 <= n; i++

auto& v : L[i])add(v,

.
’

gl/i] && qgrfil)ans += 111 * query(qrii

auto& v : R[i]l)add(v, -

.
’

cout << ans << endl;
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